EXERCISE NO. 2

Make a precis of the following passage: -

Practically, all the progress that man has made is due to the
fact that he is mortal. He has recognised that he is in this world only
for a little while, I this knowledge has been good 10 stimulate himi (o
make adiligent use of whatcver talents he isexlowed with. ‘The secrets
= of pature have been wrested from her grudging fingers by men who,

~ Knowing they were mortal, have sought to comprehend the mysteries
ol the world around them in the hope that knowledge might enable
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Allourinstincts and emotions are reinforced by death. 11'we
were not mortal, the paternal and matemal instinets would ke dominate
| ourlives sostrongly as they do. If we know that we should never die,
. weshould have no desire for children to perpetnate our names and
carry on the succession of the race.

Thus, ultimately we should arrive at a world without a child;
.and a world withont a child would be a place in which there wasno’
call for some of the most beautiful emotions to which the human soul
can give expressions. And death lends a peculiar sanctity tohuman
love. A man may love his books, but the love he bears his wife, his
children or his friends, is something deeper and more sublime; itis
love intensified and purificd by the thought that human life isa finite”
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